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‘There are 6 (Six) questions. Answer all questions. The symbols have their usual meanings.
Marks of each question and the corresponding CO and PO are provided in brackets.

1. (@) Exemplify the “Deadweight Loss”.

)

(con

(pon

(b) What is meant by “Errors of Omission”, “Compensating Errors”, “Errors of  (10)
Commission”, and “Errors of Principles™” (con
®o1)

) Explnin the mathematicl philcsophy of he factor noatons and formulas wsed  (10)
in “Single Amount” and “Uniform Series” calculations. (con

(po1)

2. (a) Draw the relevant figure and present the equation of “Change in Consumer (1)
Tasti

Surplus” in terms of “Price Elasticity of Demand” (con
®on
(b) Calculate the net annual worth in years | through 10 of the following series of (5
incomes and expenses if the interest rate is 10% per year. (©02)
®02)
Year _Income,S/Year _Expense, §Year

0 0

14 700

510 2000

(€) For the cash flows shown in the diagram, determine the value of x that will make  (10)
the future worth in year 8 equal to $-70,000 (negative 70,000 S). (©02)
®02)
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Cash flow diagram for Quest

3. (a) Record the following transactions:

1. Started business with cash efs 25,000, office equipment worth § 8,000,
worth § 12,

and a motor car
Purchased mitre worth § 40 4,000 in cash,

Purchased goods worth $ 4,500 from Mr. John on credit.
Paid Mr. John in full scttlement of his account § 4,350,
Purchased goods worth $ 6,000 from Mr. Carter on credit.
Returned goods worth $ 1,000 to Mr. Carter.

Sold office equipment for $ 4,000.

muomaLn

y the proprietor for his own rsidence
Pid o a salary of § 501
10, Sold goods to Mr. Tony are ors $5,000in cash.
1. Opened a current A/C with Chase Bank for § 6,000.

Prepare a Journal to represent the transactions,

and exampl

4. (@) Post the Journal entries into Ledger Accounts for the transactions stated in

Question # 3(a),

(b) Prepare the Trail Balance for the Ledger Accounts of Question # 4(a).
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Paid andlord S 1,200 or ent. One-hird of the premises are occupied

(b) Present the Accouning Equaton” based classification of accounts, meaning,

as)
(co2)
(®o2)

a0)
<oy
(o

as)
(c02)
(PO2)

10)
(co2)
(PO2)



5. () Derive the fundamental “Accounting Equation”. Present the extension of the
cquation and explain the terms. Explain the steps of the *Accounting Cycle’ with
examples.

(b) As a credit manager of the Central Bank of Bangladesh, you have been
approached by 2 companies for a loan of Tk. zoonnu for 6 months with no

quo
one ofthese rquests can b grantd. The elevant information upplcd  you
by the 2 companies is presented below.

Particulars Company X Company ¥
Assets
Cash 1,50,000 3,00000
Marketable Securiies 2,75,000 425,000
Stock 900000 13,0000
Other Assets 1000000 10,50,000
iabitt

5,00,000 6,50,000
Long-term Loans 800000 10,00,000
Equity Share c-pmx 800,000 12,0000
Retained Eamin 2,45,000 2,55,000

‘Other Information
Sales 2500000 18,00,000
Rate of Gross Profit on Sales 30% 0%
Considering the above data, specify the company which should be granted the
credit. Explain your answer with proper reasoning.

‘Why do total assets equal the total of equities (liabilities and owner's equity) of
an accounting equation?

6. (a) Present the “Profitability Ratios” in relation to expenses.

(b) What are the limitations of financial statements?

(e) Cale the ‘Current Asset’, ‘Current Liabilities’, lrld “Stock’ from the
!olluwlng information. Assume, there is no prepaid expens
Net Working Capital Tk.2,40,000
Current Ratio 3.
Quick Ratio 25
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[ZrErers F=RFIPin

Single
Amount

. 1
@k - Gl =PI
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Uniform
Serins
(B =

e,

A= AWEL)

Archmic
Gradient

Gross Profit
Gross Profi los = ET05S Profit
oss Profit to Sales = T 100

(Gross Proit = Sales — Cost of Goods Sold)
Operating Pro
Operation Profit Margin = 2PETe4in0 Profit
Sales
(Operaing Profit = Earnings Before ntrestand Tases (EBIT))
_ Net Profit After Tax
et Profic Margin = *eLProlAfter Tax

[Net Profit Afier Tax = Earnings Afier Taves (EAT)]

Page 4 of 4



